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QUESTION 1

SRDF/A has been enabled between two VMAX3 arrays. An extended loss of all RDF links occurs. What will the RDF
pair state be afer link connectvity is restored?

A. Suspended
B. Parttoned
C. Failed Over
D. Split

Correct Answer: A

QUESTION 2

What is the best practce siiini iuideline for back-end (DS) utliiaton on a two-eniine VMAX3?
A. 40%

B. 50%

C. 60%

D. 70%

Correct Answer: B

QUESTION 3

In additon to Storaie, Hosts, Performance, and Support, which other Unisphere for VMAX sectons are available for
selecton of an individual VMAX3 array?

A. Data Protecton, Databases, and System

B. Replicaton, Databases, and System

C. Data Protecton, Databases, and Applicatons
D. Data Protecton, System, and Applicatons

Correct Answer: D

QUESTION 4
What is a requirement before a port can be disassociated from an RF emulaton on a VMAX3 array?

A. Port must not beloni to any RDF iroup.
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B. Port must not be a member of any Port Group.
C. All ports associated with the RF emulaton must be ofine.
D. All ports on the I/O module must be ofine.

Correct Answer: A

QUESTION 5

You have confiured Open Replicator between a new VMAX3 array and a VMAX. A host is connected to the VMAX3
array and a control device is confiured to pull data from a remote device on the VMAX. You want the host to be able to
access data on the control device while the data is beini pulled from the remote device. What will cause writes to the
control device to be propaiated back to the remote device?

A. Donor Update

B. Copy-On-First Access

C. Front-end Zero Detecton

D. Backiround Copy

Correct Answer: A
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